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1. Answer any eight from the following :

©eR el St 2T Tet 3 8

BRI S5 A0 TEI I 8

(@)

().

(c)

@

(e)

Who is OOP? = '~
OOP Wi &2 J

OOP T F?

What is an instance in "OOP.?

OOP % instance 31 ¢ & g@we

'O0P-9 instance @09 I @RIT?

What is Data Encapsulation ?
Data Encapsulation = &2

Data Encapsulation It e

What is Overloading ?

Overloading &2

‘Overloading e

What is Destructor in OOP ?

" OOP © Destructor I &2

OOP-4 Destructor M H?
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() What is class member ?
Class ¥ me_mber e

Class-¢d rhembe_r e~ |

(g9 What is Relational Alg_ebx:a?
Relational. Algebra ?

Relational Algebra $1?

(h) What is an Array ?
Array Wit ®e

Array Wi 12

() What is Memory Allocation ?
Memory Allocation &2

Memory Allocation Jre

() What does FIFO mean to you?
FIFO WA & 3at? -

FIFO 3ot off 1 @i ?
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(k) What is preprocessor directive ?
Preprocessor directive &2

Preprocessor directive 1?2

\

' -\
() What is Relational Database ?
Relational Database e

Relational Database 31?2

(m) What is Topology ?
Topology &2

Topology F1?

2. Answer any ten from the following : ' 2x10=20
oo fAcear w2h! e Tl 4 ¢

ﬁﬁmm—w@wﬁm%mz ‘

(a) Define Namespaces.
Namespaces I 7| foran|

Namespaces~43 MR (&R |
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(b) Define Sorfing.
Sorting I g’} fovall |

. Sorting-4d & (ST |
\

() Define POSTFIX notation.
POSTFIX notation-¥ &l &l |

POSTFIX notation—~43 & Gl |

(d) State De-Morgan’s theorems. -
De-Morgan ¥ theorem @R S 31|

De-Morgan-<& theoremafs Rge F@l |

'(e) What is the use of Optical Fibre ?
Optical Fibre 3 J9%7 &2

Optical Fibre-49 IQ%7 312

() Describe Satellite Data Communication of Networking.
Networking ¥ Satellite Data Communication I I 31 |

2

Networking-4d Satellite Data Communication ~43 399! I |
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(g) What can a terfxplate in C++ do?
C++ © B! template 9 & IR A@?
C++-9 T terriplate J T AMEA?

AN

(h) Define a Q‘ueue.vn
\

‘ \
Queue I 7H G

. Queue~4d ¥Rl (=TT |

(i) What is IOSTREAM_’?
IOSTREAM 2
[OSTREAM 17

(j) What is ereless Communication ?
Wireless. Co.mmunication. &0

Wireless Communication 12

(k) Describe Bandwidth.

Bandwidth I 3@ 31 |

Bandwidth-ag 3@ I |
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() What is K-map simplification ?
K-map simplification W &F?

K-nﬁap simplification W 2

»(mv) What is the use of XML ?
XML 3 3R fee |
XML-GS I Jt2

(n) What is Boolean algebra ?
Boolean algebra {&¢?

Boolean algebra ??f?' '

(o) What is TCP/IP ?
TCP/IP &2

TCP/IP e

3. AnsWer any nine from the following : . 3x9=27

wﬁmmm?rmw‘w:z
ﬁmhmwﬁm%meg .

r

(a) Explain Constructor Overloading.
Constructor Overloading A& 3¢ Sl

Constructor Overloading &G 3¢ T |
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(b)

(c)

(d)

(e)

Write the differences between Top-Down and . Bottom-Up

approaches.

Top-Down Wi% Bottom-Up approach I st ferl |

Top-Down ¢ Bottom-Up approach-&d sfifmafe @
\ v

Explain the POP and PUSH operations in Stack.
Stack ¥ POP &% PUSH 1 751 1l <=1

Stack-4% POP @&k PUSH- 1 6 WM I

Describe the Queue and its opei‘ations.

Queue WWW?@ A

Queue &% <& TRETE I WS |

Explain the Insertion Sorting.

Insertion Sorting (5! 29 0

L4

‘ insertion Sortingf% 09 @

Define the column constraints in DBMS.

DBMS ¥ column constraints I A& et

DBMS-49 column constraints~43 ALl (ST |
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(9) Explain the Client side scripting.
Client-side scripting I RI I3 Bial |

Client-side écripting—uﬂﬁ e e s .

\

4 \ '
(h) Write about the logic gates.
Logic gate [ Raww faxi |

Logic gate &feT J™{tF (eTeat |

(i) Explain HTML.
'HTML I R 3113 vt

HTML~R REa i 3 |

() Define DDL and DML.
DDL 9% DML 3 e f&=y |

DDL 932 DML~43 <@l (&7eal |

(k) Mention the uses of Co-axial cable.
Co-axial cable I IFYTTZ TmL 31 | 2
Co-axial cable~<® IR Tragd @M
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()  Differentiate one and two dimensiona] arrays.
One % Two dimen‘sional array 3 dcewry [{acy ferar |

One G Two dimensional array-gg renafe (CSTCRT |

(m) Write vabout“ switching techniques.
- \
Switching, technique 3 ﬁ?fm ferar |

Switching technique-ST™IF aray |

4.  Answer any three from the following : o Sx3=15

'wﬁzwﬁﬁﬁfrm%ws‘
: ?ﬂmmmwﬁwﬁm%wwz'

(@) Explain different clauses Liged in SQL.
SQL © 29 3t fifRm clause e ez I e |

SQL«s TR 76T Rfeq clause oy T P @A |

E )

" (v) Explain about DOMAIN names.
Domain names 3 gy IR oy |

Domain names-J=9{¢§ IR B[R | ' 3
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() Explain the Boolean operators.

- Boolean operator @3 Ry G 1A |

Booleap 6perator ofF ooy IR @ |-

(d) Write a progfam in C++ to sort the numbers entered by the

User q fitat spiz sort #Ra /ies Cast © 9GB! eray vt
User-8 ST el sreatofice sort TR & C++9q @3 cotay
CTeT | - |

(¢) Explain the difference between traversal and searching,.
Traversal Wﬁe Searching I TIeg ATSHIR I 3 |

Traversal ¥R Searching-93 Wy erewafl T AL

() What are the differenccs between SMTP and POP3 protocols ?
SMTP &% POP3 protocol 3 1< f?

SMTP 3% POP3 protocol-aa Wy sHidke e
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